
Chemical 

Reactions 



Which of the following is 

NOT an example of a 

chemical reaction? 

A.  Milk turning sour 

B.  Food being digested 

C.  A match burning 

D.  Ice melting 
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If a chemical symbol in a chemical 

formula has no subscript, it means 

 A.  The chemical symbol is written without  

  any numbers. 

 B.  The element has no charge. 

 C.  The chemical is listed last in the formula. 

 D.  Only one atom of the element is in the  

  molecule. 
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How many atoms are 

represented in the formula 

CaCO3? 

A.  three 

B.  four 

C.  five 

D.  six 
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Which of the following is an 

example of a diatomic 
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C.  Mg  
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Which of the following phrases 

describes a catalyst? 

 A.  Slows the rate of a reaction 

 B.  Increases the energy given off by a  

  reaction 

 C.  Lowers the activation energy of a  

  reaction 

 D.  Changes permanently when used in a reaction 
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For a chemical bond to break,  

 A.  Individual atoms must be present 

 B.  Energy is required 

 C.  Covalent compounds must be mixed 

 D.  Solids must be dissolved 
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 2C + 2O2         2CO2  

 A.  

 B.   

 C.   

 D.  

 E.    

C 

D B A 

E 

 yield signs  

 subscript   

 product   

 coefficient 

 reactants   

Match the labels to the equation. 



 2C + 2O2         2CO2  

 A. coefficient 

 B.  subscript 

 C.  yield signs 

 D.  product 

 E.   reactants 

C 

D B A 

E 



Match the correct description 

with the correct term. 

 1.  6CO2 + 6H2O + energy          C6H12O6+6O2 

 2.  H2CO3        H2O+CO2 

 3.  2Na + Cl2         2NaCl + energy 

 4.  Zn + 2HCl        ZnCl2 + H2   

 

 A.  Exothermic reaction 

 B.  Decomposition 

 C.  Endothermic reaction 

 D.  Single-displacement reaction   
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Which of the following is the 

chemical formula for a 

dinitrogen trioxide molecule? 

A.  N2O3 

B.  3N2O
 

C.  2N3O2 

D.  NO3 
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Which of the following usually 

increases the rate of a 

reaction? 

 A. decreasing the concentration of the 

      reactants 

 B. grinding a solid reactant into a powder  

 C. lowering the temperature of the  

      reactants 

 D. raising the temperature of the products 
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Why does the law of 

conservation of mass dictate 

that chemical equations be 

balanced?  
 A. because atoms are never gained or lost in a  

     chemical reaction 

 B. because elements are classified by weight    

 C. because chemical formulas are written from  

      left to right 

 D. because using the wrong chemical symbol  

      causes confusion 
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In which kind of chemical 

reaction do two or more 

substances combine to form 

one new compound?  

A. synthesis reaction 

B. decomposition reaction 

C. single-displacement 

D. double-displacement reaction 
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Which of the following 

examples shows where a 

coefficient is used correctly to 

balance the equation? 

A. Na + Cl2                    2NaCl 
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